AT

www.honbontec.com

1.Product Overview

1.1 Specification
Model CA-ST00-KWN1 ( Shield 700)
Avaliable Color Black
Material Body: SGCC, Appeareance: Plastic+ Aluminum
Dimension W x H x D = 230 x 536 x 508mm / 9.1 x 21.1 x 20 inch
Net Weight 8.5Kg
M/B Supports Micro-ATX. ATX

5.25"Drive Bays

1

3.5"Drive Bays

3

2.5"Drive Bays

11 (5 Converted from 3.5" Drive Bays + 6 from 2.5" Drive Rack)

Cooling System Support

Front: 120/140mm Fan x 2, 120mm Radiator X 1 ( optional)
Top: 120mm Fan x 3 (Optional) , 120/240/360mm Radiator x 1 ( Optional )
Rear: 120/140mm Fan x 1, 120/140mm Radiator x 1 ( Optional )

Expansion Slot

7

[/O Connectors

USB 3.0 x 2, USB 2.0 x 2, Mic-in x 1, Audio out x 1 ( supports AC97/HD Audio)

Power Supply Support ATX PS2 140/160/180mm
Maximum CPU Cooler Height 183mm
Maximum VGA Length 415mm

* Product specifications are subject to change without notice

1.2 Accessory

Figure | Parts Name Q'ty | Used for
Q) Standoff Socket 1 Stand-off
Q Motherboard Stand off 9 M/B Tray
& 6#-326mm screw 13 M/B Tray, Power Supply
Q M3*5mm screw 6 Optical Drive, 2.5"HDD
——— | Cable tie 8 Cable Management
@ #6-32 * 5 Thumb screw 4 Side Panel
#6-32 * 5mm screw 6 3.5"HDD
#6-32 * 10mm screw 2 3.5"HDD

A Warning!

1. CPU cooler installation

Before start to install the CPU, please
ensure that your CPU-cooler does not
exceed 183mm height. Otherwise, it might
cause damage to case's side panel and
your CPU cooler.

2. VGA card installation

Before start to install the VGA Card, please
ensure that your VGA Card does not
exceed 415mm length. Otherwise, it might
cause damage to case's side panel and
your VGA Card.

Maximum CPU Cooler Height;183mm

[
‘Ei o > > - = > r o = - @E
' 1D O v
U Y- u
Ul @“ ¢ Ui
U o U
n o = H
U oﬂ B JEHD U
° BT — s 7
uff | Cecleseae] = U
f as 4
. i
Ul zﬂ]] = L= . 4 = EﬂEU
Ul Ui
[U ul (U
o — > EX— > L > > U Oj
[ l
415mm

Maximum VGA Card Length:415mm



+

=g
www.honbontec.com

Exploded View

m111311111111314
8|~

= | =

= | C

) oo

—~ |3 ©

= | 8 S8

g|= 3L

£ mmo.n

- W.m Ts.m

| O —_ =

® & g z2 2|& 2 B8% |
e . w| =2 2o | E = %Dwe
p= WMW.mHm.m%mmanb.wm
= |=|iT B | = = E | ol =2 |0
ZIT |08 2 o5|lolal= 58 |al®
S%MAmcm%AVHAPSWW%.m
Tlolals5lEl |8 £|E|QE|lE|E| 25 |2 B
©Ols| S| |Q S|B8|B5=S|S|8|S|S|2l sOo |8l
[T [ S I o < SR == I c'a T e (RGN I i W I i N T B o < B o S Y S o
sC@EREE © ¥R @ O®

=

WESRIT S




